

## SLOT RECEIPT

GENERATED AT 2025-03-17 11:37 (UTC)



BLOCKCHAIN BEACON-CHAIN

SLOT ID 8299587

DATE & TIME Jan 28, 2024 · 05:23 (UTC)

SLOT STATUS In epoch 259,362 ⋅ CONFIRMED ✓

SLOT FEE NO FEE

## DEPOSITS EVENTS

#	Validator Id	Amount
1	<u>1159719</u>	+ 32.000000000 ETH � 72,645.44 USD
<u>2</u>	1159720	+ 32.000000000 ETH ↔ 72,645.44 USD
<u>3</u>	<u>1159721</u>	+ 32.000000000 ETH ↔ 72,645.44 USD
<u>4</u>	1159722	+ 32.000000000 ETH � 72,645.44 USD
<u>5</u>	<u>1159723</u>	+ 32.000000000 ETH � 72,645.44 USD
<u>6</u>	<u>1159724</u>	+ 32.000000000 ETH � 72,645.44 USD
<u>7</u>	<u>1159725</u>	+ 32.000000000 ETH � 72,645.44 USD

<sup>\*</sup> USD values displayed at the time of slot

8       1159726       + 32.0000000000 ETH ♥ 72,645.44 USD         9       1159727       + 32.0000000000 ETH ♥ 72,645.44 USD         10       1159728       + 32.0000000000 ETH ♥ 72,645.44 USD         11       1159729       + 32.0000000000 ETH ♥ 72,645.44 USD         12       1159730       + 32.0000000000 ETH ♥ 72,645.44 USD         13       1159731       + 32.0000000000 ETH ♥ 72,645.44 USD         14       1159732       + 32.0000000000 ETH ♥ 72,645.44 USD         15       1159733       + 32.0000000000 ETH ♥ 72,645.44 USD         WITHDRAWALS EVENTS       # 32.0000000000 ETH ♥ 72,645.44 USD         WITHDRAWALS EVENTS       # Validator Id       Amount         1       723562       - 0.017418075 ETH ♥ 39.54 USD         2       723563       - 0.017461769 ETH ♥ 39.64 USD	<u>#</u>	<u>Validator Id</u>	<u>Amount</u>	
10       1159728       + 32.0000000000 ETH ♥ 72,645.44 USD         11       1159729       + 32.0000000000 ETH ♥ 72,645.44 USD         12       1159730       + 32.0000000000 ETH ♥ 72,645.44 USD         13       1159731       + 32.0000000000 ETH ♥ 72,645.44 USD         14       1159732       + 32.0000000000 ETH ♥ 72,645.44 USD         15       1159733       + 32.0000000000 ETH ♥ 72,645.44 USD         16       1159734       + 32.0000000000 ETH ♥ 72,645.44 USD         WITHDRAWALS EVENTS       # Validator Id       Amount         1       723562       - 0.017418075 ETH ♥ 39.54 USD         2       723563       - 0.017461769 ETH ♥	<u>8</u>	<u>1159726</u>		
11       1159729       + 32.0000000000 ETH ♥ 72,645.44 USD         12       1159730       + 32.0000000000 ETH ♥ 72,645.44 USD         13       1159731       + 32.0000000000 ETH ♥ 72,645.44 USD         14       1159732       + 32.0000000000 ETH ♥ 72,645.44 USD         15       1159733       + 32.0000000000 ETH ♥ 72,645.44 USD         16       1159734       + 32.0000000000 ETH ♥ 72,645.44 USD         WITHDRAWALS EVENTS       # Validator Id       Amount         1       723562       - 0.017418075 ETH ♥ 39.54 USD         2       723563       - 0.017461769 ETH ♥	9	<u>1159727</u>		
72,645.44 USD  12 1159730 + 32.0000000000 ETH ❖ 72,645.44 USD  13 1159731 + 32.0000000000 ETH ❖ 72,645.44 USD  14 1159732 + 32.0000000000 ETH ❖ 72,645.44 USD  15 1159733 + 32.0000000000 ETH ❖ 72,645.44 USD  16 1159734 + 32.0000000000 ETH ❖ 72,645.44 USD  WITHDRAWALS EVENTS  # Validator Id Amount  1 723562 - 0.017418075 ETH ❖ 39.54 USD  2 723563 - 0.017461769 ETH ❖	<u>10</u>	<u>1159728</u>		
72,645.44 USD  13 1159731 + 32.000000000 ETH ♥ 72,645.44 USD  14 1159732 + 32.000000000 ETH ♥ 72,645.44 USD  15 1159733 + 32.0000000000 ETH ♥ 72,645.44 USD  16 1159734 + 32.0000000000 ETH ♥ 72,645.44 USD  WITHDRAWALS EVENTS  # Validator Id Amount  1 723562 - 0.017418075 ETH ♥ 39.54 USD  2 723563 - 0.017461769 ETH ♥	<u>11</u>	1159729		
72,645.44 USD     14	<u>12</u>	<u>1159730</u>		
72,645.44 USD  15 1159733	<u>13</u>	<u>1159731</u>		
72,645.44 USD  16 1159734 + 32.0000000000 ETH ♥ 72,645.44 USD  WITHDRAWALS EVENTS  # Validator Id Amount  1 723562 - 0.017418075 ETH ♥ 39.54 USD  2 723563 - 0.017461769 ETH ♥	<u>14</u>	<u>1159732</u>		
# Validator Id Amount  1 723562 - 0.017418075 ETH ♀ 2 723563 - 0.017461769 ETH ♀	<u>15</u>	<u>1159733</u>		
<pre># Validator Id</pre>	<u>16</u>	<u>1159734</u>		
1 723562 - 0.017418075 ETH	WITHDRAWALS EVENTS			
39.54 USD  2 723563 - 0.017461769 ETH ❷	#	Validator Id	Amount	
<del>-</del> - <del></del>	<u>1</u>	723562		
	<u>2</u>	723563		
3 723564 - 0.017455766 ETH   39.62 USD	<u>3</u>	723564		

<u>#</u>	Validator Id	Amount
<u>4</u>	<u>723565</u>	- 0.017445261 ETH � 39.60 USD
<u>5</u>	<u>723566</u>	- 0.017413879 ETH   39.53 USD
<u>6</u>	723567	- 0.017405489 ETH � 39.51 USD
<u>7</u>	723568	- 0.017395577 ETH   39.49 USD
<u>8</u>	723569	- 0.017456259 ETH
<u>9</u>	723570	- 0.017482492 ETH <b>⊘</b> 39.68 USD
<u>10</u>	<u>723571</u>	- 0.017421241 ETH � 39.54 USD
<u>11</u>	<u>723572</u>	- 0.017442585 ETH   39.59 USD
<u>12</u>	723573	- 0.017426031 ETH   39.56 USD
<u>13</u>	723574	- 0.017433387 ETH   39.57 USD
<u>14</u>	<u>723575</u>	- 0.017429007 ETH � 39.56 USD
<u>15</u>	<u>723576</u>	- 0.017442830 ETH
<u>16</u>	<u>723577</u>	- 0.059804299 ETH <b>⊘</b> 135.76 USD

## PROPOSALS EVENTS

#	Validator Id	Amount
<u>1</u>	<u>852869</u>	+ 0.042354419 ETH � 96.15 USD

## DISCLAIMER

THIS RECEIPT IS BASED ON PUBLIC DATA FROM THE BEACON-CHAIN BLOCKCHAIN. BLOCKCHAIR MAKES NEITHER WARRANTY THAT THIS RECEIPT IS FREE OF ERRORS, NOR WARRANTY THAT ITS CONTENT IS ACCURATE. BLOCKCHAIR WILL NOT BE RESPONSIBLE OR LIABLE TO YOU FOR ANY LOSS OF ANY KIND, FROM ACTION TAKEN, OR TAKEN IN RELIANCE ON INFORMATION CONTAINED IN THIS RECEIPT. BLOCKCHAIR IS NEITHER A BANK, NOR A PAYMENT PROCESSOR FOR THIS PAYMENT. BLOCKCHAIR DOES NOT PROVIDE SUPPORT IN CASE OF PROBLEMS ASSOCIATED WITH THIS RECEIPT.

<sup>\*</sup> USD values displayed at the time of slot